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Use the distributive property then combine like terms 
 
5(4d – 6) -19d +2                 -2(9r – 2) – 2r +7 
 
 
 
 
Solve each equations 
 
F – 9=   120  W + 1.4 =  59  m/-2 = 6  -7x = 56 
 
 
 
 
 
Find K 
 

x 3 6 9 12 
y 12 24 36 48 

 
 
PSSA Question-  Underline important info and show your work. 
 
Yellianis bought a hat for 40.00 and she had a 30% off coupon.  Marrilyn 
bought a the same hat for 45.00 and she had a 35% off coupon.  Who paid 
more for the hat? 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
On the back: 
 
Create 4 equations(+,-,x and /) on the back and solve 


